PR XPW 7"7 '010 2,770 12D .7"0a

That a Levi read after him — 9% PN RIPR

OVERVIEW
"MK " was 111797 17791 someone who read first in the 7710 and was followed by a "17
(Prmn). mooIn qualifies this ruling.

Mmoo anticipates a difficulty:
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According to the explanation of the "72:7 >''2 who explained that which *2ax ruled
in °w5 'on; “if there is no 1775, the ‘bundle’ is separated’, to mean -
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That a prominent X2 should read before a Y% (who is not that as prominent) —

mooIn responds:
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We can explain that here in the case of *»x ", that the »"» who read after the
first 71°%v, was of a lesser stature than the »X2w> who read after the 5.

SUMMARY
According to the "% "1, when there is no 112 the n1%y are in order of the
prominence of the °9.

THINKING IT OVER
1. Why did not n»oIn answer (as he does in 7°0°3) that the "% was greater that the
first 7219 (proving that the first 79 is a 372)?!*

2. According to m»doIn the X713 should have said that the third was more prominent
than the second 721; why mention the 7 at all?21’

! This seems to be 7777 *212 Pr¥> ' who is cited there 777501 7"72.

* According to the »1271 *", if there is no 3713, the people are called up to the 7710 in the order of their prominence; the
more prominent first. There is therefore seemingly no proof that the first one was a 373 (since a *Y? read after him); it
is possible there was no 7713, and the one who was called on first was the most prominent (5% or *1?), and the "7
was less prominent and the third one was the least prominent.

3 Therefore it must be that the first one was a 173, for otherwise the third one should have been called up before the
1 since he was more 173 than the *1.

* See Y"wann and R"wAn.

> See [w"x"77 MoOIN and] anbw XOD.

TosfosInEnglish.com



